Answers to Practice Questions
1. 3000 K
Using Wien’s law ( 
(Quantitative calculations are not required for black body radiation in the AP exam)
2. 4.1x10-5 eV
Use E=hc/λ
3. 1.7 eV
Same as in 2.
4. 4.1 eV
Same as in 2.
5. 4.1x103 eV
Same as in 2.
6. 1524
P=E/t=nE/t, where n/t is the number of photons per second, and E is the energy of 1 photon.
7. 1.5x1011
Same as in 6.
8. 200 fm
(1 W/m2)( 1x10-12 m2) = 1x10-12W for 1 photon per second.
Using the equation from question 6, 1x10-12W=(1photon/second)(E).
9. gamma ray
Memorization; gamma rays have wavelengths of less than 1nm.
10. Green
Green light has a wavelength of around 500nm.
11. 0.26 eV
KEmax=E-W
12. 2.43 pm
Compton wavelength = h/(mec)
13. 0.15 nm
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14. 0.1524 nm
Same as in 13.
15. 136 eV
Kinetic energy.
16. 6.6x10-32 m
deBroglie wavelength; λ=h/p
17. 3.6x10-10 m
Same as in 16.
18. 2x10-13 m
Same as in 16.
19. 2x10-13 m
p=mv, and p=h/λ
20. Werner Heisenberg
21. 1x10-19 kg m/s
h/(2π) = px
22. 2.99999x108 m/s

23. 187.5 MeV

24. 3.4 eV

25. 6.25x10-7 eV

